Dr. Jieun Pando

Ector County ISD Director of School Nutrition (432) 456-9741
1120 W 10th St Odessa, TX
Odessa, TX 79763
lieun.Pando@ectorcountyisd.org



IFB Bid 26-02 Addendum 1 SN Kitchen Equipment

- **Purpose:** To acquire new kitchen equipment for SY 2025-2026.
- Background Info: The School Nutrition Department plans to replace kitchen equipment that exceeded the expected life span. The new kitchen equipment list includes utility/bussing carts, reach-in refrigerator, pass-thru refrigerator, pass-thru heated cabinet, convection oven, and open burner range.

• Cost: \$127,043 Estimated

Funding Source: Federal Funds 240

Recommended Supplier/Service Provider:
 Ace Mart Restaurant Supply Co - \$66,176
 Sam Tell and Son Inc - \$60,867

Board Approval	Date



Sup	plier	QTY	UOM	Estimated	Unit Price	Extended	Supplier Notes		Manufacture	r Manufacturer #
San	n Tell and Son Inc	38	EA		\$1,243.44	\$47,250.72	2		Channel Mod	lel TDC2237A-3
Culi	inary Depot (Chefs D	epot I 38	EA		\$1,299.00	\$49,362.00)		Channel Mod	lel TDC2237A-3
Ace	Mart Restaurant Su	ipply (38	EA		\$1,394.0511	\$52,973.94	Freight and pri	cing for delivery, assem	bl Channel Mod	lel TDC2237A-3
Mis	sion Restaurant Sup	ply 38	EA		\$1,394.87	\$53,005.06	5		Channel Mod	lel TDC2237A-3
Pue	blo Hotel Supply	38	EA		\$1,406.43	\$53,444.34	Delivery, Uncra	te & set in place is inclu	d Channel Mod	lel TDC2237A-3
Criteria 1	Criteria 2	Criteria	3	Criteria 4	Criteria 5	Criteria 6	Criteria 7	Criteria 8	Total	Additonal Informatio
60	5	10		5	5	5	5	5	100	
55	5	10		5	5	5	5	5	95	
50	5	10		5	5	5	5	5	90	
45	5	10		5	5	5	5	5	85	
40	5	10		5	5	5	5	5	80	
2 REACH-IN	I REFRIGERATOR									
Sup	plier	QTY	UOM	Estimated	Unit Price	Extended	Supplier Notes	/ Alternate Description	Manufacture	Manufacturer #
Pue	blo Hotel Supply	2	EA		\$7,779.52	\$15,559.04	l .		Beverage Air	HRPS2HC-1S
[AL	[1] Mission Restaura	ant Su 2	EA		\$14,137.00	\$28,274.00	Designer Line W	lide Refrigerator, reach-	ir Continental	D2RENSS
Ace	Mart Restaurant Su	pply (2	EA		\$18,075.16	\$36,150.32	Pricing for deliv	ery, assembly, set in pl	ac Traulsen	RHT232WUT-FI
Culi	nary Depot (Chefs D	epot I 2	EA		\$19,717.59	\$39,435.18	3		Traulsen	RHT232WUT-FF
Sam	Tell and Son Inc	2	EA		\$23,620.17	\$47,240.34	ı		Traulsen	RHT232WUT-FI
[AL	Γ1]Pueblo Hotel Sup	ply 2	2 EA		\$24,546.01	\$49,092.02	2		Traulsen	RHT232WUT-FI
Criteria 1	Criteria 2	Criteria	a 3	Criteria 4	Criteria 5	Criteria 6	Criteria 7	Criteria 8	Total	Additonal Information
60	5	5		1	5	5	5	2	88	
55	5	5		1	5	5	5	2	83	
50	5	10		5	5	5	5	5	90	
45	5	10		5	5	5	5	5	85	
40	5	10		5	5	5	5	5	80	
35	5	10		5	5	5	5	5	75	
3 PASS-TH	RU REFRIGERATOR				1					
Sup	plier	QTY	UOM	Estimated	Unit Price	Extended	Supplier Notes	/ Alternate Description	Manufacturer	Manufacturer #
Pue	blo Hotel Supply	1	EA		\$7,442.32	\$7,442.32			Beverage Air	RID18HC-HS
[A]	[1] Mission Restaura	ant Su 1	EA		\$13,899.00	\$13,899.00	Designer Line W	ide Refrigerator, pass-tl	Continental	D1RENSSPTHD
[,										

Ace	Mart Restaurant Supp	ly (1	EA		\$15,931.56	\$15,931.56	Pricing for deliver	y, assembly, set in	plac Traulsen	RHT132WPUT-HH
Culir	nary Depot (Chefs Dep	ot I 1	EA		\$17,179.79	\$17,179.79			Traulsen	RHT132WPUT-H
[ALT	1]Pueblo Hotel Supply	/ 1	EA		\$19,261.15	\$19,261.15			Traulsen	RHT132WPUT-H
Sam	Tell and Son Inc	1	EA		\$20,580.02	\$20,580.02			Traulsen	RHT132WPUT-HI
Criteria 1	Criteria 2	Criteri	ia 3	Criteria 4	Criteria 5	Criteria 6	Criteria 7	Criteria 8	Total	Additional Information
60	5	5		1	5	5	5	2	88	7 taureonar miormatic
55	5	5		1	5	5	5	2	83	
50	5	10		5	5	5	5	5	90	
45	5	10		5	5	5	5	5	85	
40	5	10		5	5	5	5	5	80	
25	-	10	1	-		-	-	-	75	



Supplier	QTY	UOM	Estimated	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
[ALT1] Pueblo Hotel Supply	1	EA		\$7,447.36	\$7,447.36		Beverage Air	PH-1-1HS-PT
[ALT1] Mission Restaurant Su	1	EA		\$12,279.00	\$12,279.00	Designer Line Heated Cabinet, extra wide	Continental	DL1WE-SS-PT-H
Ace Mart Restaurant Supply (1	EA		\$14,093.27	\$14,093.27	Pricing for delivery, assembly, set in place	Traulsen	RHF132WP-HH
Culinary Depot (Chefs Depot I	1	EA		\$15,053.58	\$15,053.58		Traulsen	RHF132WP-HH
Pueblo Hotel Supply	1	EA		\$16,795.26	\$16,795.26		Traulsen	RHF132WP-HH
Sam Tell and Son Inc	1	EA		\$18,033.00	\$18,033.00		Traulsen	RHF132WP-HH

Criteria 1	Criteria 2	Criteria 3	Criteria 4	Criteria 5	Criteria 6	Criteria 7	Criteria 8	Total	Additional Information
60	5	5	1	5	5	5	2	88	
55	5	5	1	5	5	5	2	83	
50	5	10	5	5	5	5	5	90	
45	5	10	5	5	5	5	5	85	
40	5	10	5	5	5	5	5	80	
35	5	10	5	5	5	5	5	75	

Supplier	QTY	UOM	Estimated	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
Sam Tell and Son Inc	1	EA		\$9,682.98	\$9,682.98		VULCAN	VC44GD
Ace Mart Restaurant Supply	(1	EA		\$10,891.10	\$10,891.10	Please note that a gas hose kit was not	VULCAN	VC44GD
Culinary Depot (Chefs Depot	l 1	EA		\$10,950.00	\$10,950.00		VULCAN	VC44GD
Pueblo Hotel Supply	1	EA		\$11,603.99	\$11,603.99		VULCAN	VC44GD
[ALT1] Pueblo Hotel Supply	1	EA		\$12,119.82	\$12,119.82		Garland	SUMG-200-SIGNATUR
Mission Restaurant Supply	1	EA		No Bid			VULCAN	VC44GD

Criteria 1	Criteria 2	Criteria 3	Criteria 4	Criteria 5	Criteria 6	Criteria 7	Criteria 8	Total	Additional Information
60	5	10	5	5	5	5	5	100	
55	5	10	5	5	5	5	5	95	
50	5	10	5	5	5	5	5	90	
45	5	10	5	5	5	5	5	85	
40	5	5	5	5	5	5	2	72	
No Bid									

6	RANGE, 36", 6 OPEN BURNERS			1	1		1		
	Supplier	QTY	UOM	Estimated	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	Sam Tell and Son Inc	1	EA		\$3,932.70	\$3,932.70		Vulcan Model	36S-6BN
	Culinary Depot (Chefs Depot I	1	EA		\$4,450.00	\$4,450.00		Vulcan Model	36S-6BN
	Pueblo Hotel Supply	1	EA		\$4,882.28	\$4,882.28		Vulcan Model	36S-6BN
	Ace Mart Restaurant Supply C	1	EA		\$5,326.10	\$5,326.10	Please note that a gas hose kit was not	Vulcan Model	36S-6BN
	[ALT1] Pueblo Hoel Supply	1	EA		\$5,455.67	\$5,455.67		Garland	G36-6R
	Mission Restaurant Supply	1	EA		No Bid			Vulcan Model	36S-6BN

Criteria 1	Criteria 2	Criteria 3	Criteria 4	Criteria 5	Criteria 6	Criteria 7	Criteria 8	Total	Additional Information
60	5	10	5	5	5	5	5	100	
55	5	10	5	5	5	5	5	95	
50	5	10	5	5	5	5	5	90	
45	5	10	5	5	5	5	5	85	
40	5	5	1	5	5	5	2	68	
No Bid									



	Supplier	QTY	UOM	Estimated	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
	Pueblo Hotel Supply	1	EA		\$7,779.52	\$7,779.52		Beverage Air	HRPS2HC-1S
	[ALT1] Mission Restaurant Su	1	EA		\$17,123.00	\$17,123.00	Designer Line Wide Refrigerator, reach-in	Continental	D2RENSSGD
	Ace Mart Restaurant Supply	(1	EA		\$19,441.59	\$19,441.59	Pricing for delivery, assembly, set in place	Traulsen	RHT232WUT-FH
	Culinary Depot (Chefs Depot	1	EA		\$21,298.04	\$21,298.04		Traulsen	RHT232WUT-FH
	[ALT1] Pueblo Hotel Supply	1	EA		\$21,519.37	\$21,519.37		Traulsen	RHT232WUT-FH
Т	Sam Tell and Son Inc	1	EA		\$23,620.17	\$23,620.17		Traulsen	RHT232WUT-FH

8	REA	CH-IN FREEZER - NO AWARD								
		Supplier	QTY	UOM	Estimated	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
		Pueblo Hotel Supply	1	EA		\$8,893.91	\$8,893.91		Beverage Air	HFPS1WHC-1S
		[ALT1] Mission Restaurant Su	1	EA		\$14,291.00	\$14,291.00	Designer Line Wide Freezer, reach-in, 28	Continental	D1FENSSGD
		Ace Mart Restaurant Supply C	1	EA		\$18,306.91	\$18,306.91	Pricing for delivery, assembly, set in place	Traulsen	RLT132WUT-FHS
		[ALT1] Pueblo Hotel Supply	1	EA		\$18,334.77	\$18,334.77		Traulsen	RLT132WUT-FHS
		Sam Tell and Son Inc	1	EA		\$19,023.68	\$19,023.68		Traulsen	RLT132WUT-FHS
		Culinary Depot (Chefs Depot I	1	EA		\$19,927.17	\$19,927.17		Traulsen	RLT132WUT-FHS

